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_ _ 50cm 0.11 0.11 0.08 0.08 0.11 0.12
1 =BE™ *REEH BH=EREE 9/ 148
1m 0.10 0.10 0.07 0.09 0.11 0.11
_ . 50cm 0.19 0.20 0.08 0.09 0.09 0.09
2 =BE™ *REEH HOFEREER 9/ 148
1m 0.18 0.20 0.09 0.10 0.09 0.09
) ‘ 50cm 0.09 0.08 0.08 0.08 0.09 0.10
3 =BE™ *REEH RE—Rh—LpYMHT 9/ 148
1m 0.10 0.09 0.07 0.08 0.09 0.10
50cm 0.07 0.06 0.06 0.06 0.08 0.08
4 =BE™ *REEH HIEWAREER 9/ 148
1m 0.07 0.07 0.05 0.06 0.08 0.08
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1m 0.07 0.07 0.08 0.09 0.09 0.09
_ _ 50cm 0.06 0.08 0.07 0.06 0.09 0.09
7 =BE™ YR FEEH=aNHE 9/ 148
1m 0.07 0.07 0.07 0.06 0.09 0.09
_ _ . 50cm 0.07 0.07 0.06 0.06 0.08 0.07
8 =BE™ YR BEOLNMNIYHE 9/ 148
1m 0.07 0.06 0.06 0.06 0.07 0.07
_ _ 50cm 0.10 0.10 0.08 0.08 0.06 0.07
9 =BE™ INERR BEMIL=AE/NER 9/ 148
1m 0.09 0.10 0.07 0.07 0.07 0.07
_ _ 50cm 0.05 0.06 0.09 0.08 0.07 0.07
10 =BE™ INERR EEMILEFH/NER 9/ 148
1m 0.05 0.05 0.09 0.08 0.07 0.07
_ . e R 50cm 0.08 0.08 0.07 0.08 0.10 0.09
11 BE™ INERR EETILEESFEM/NFER 9/ 148
1m 0.08 0.08 0.07 0.08 0.09 0.09
_ . . R 50cm 0.09 0.09 0.07 0.07 0.08 0.08
12 BET R BETILBKPER 9/ 148
1m 0.09 0.09 0.07 0.07 0.08 0.08
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50cm 0.10 0.11 0.11 0.11 0.08 0.08
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1m 0.10 0.11 0.10 0.11 0.08 0.08
50cm 0.14 0.15 0.09 0.09 0.10 0.11
21 TR ZARME = PR 9/ 148
1m 0.15 0.16 0.10 0.09 0.11 0.11
_ 50cm 0.08 0.09 0.09 0.08 0.10 0.09
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1m 0.08 0.09 0.08 0.08 0.09 0.09
_ 50cm 0.09 0.09 0.09 0.09 0.10 0.11
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1m 0.09 0.08 0.09 0.09 0.10 0.10
_ 50cm 0.10 0.11 0.09 0.11 0.11 0.12
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1m 0.09 0.10 0.09 0.11 0.11 0.11
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32 Bl YR BRI E 9/ 148
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m 0.10 0.09 0.10 0.10 0.12 0.13
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1m 0.10 0.11 0.07 0.07 0.06 0.07
50cm 0.08 0.09 0.07 0.08 0.08 0.09
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1m 0.08 0.09 0.07 0.07 0.08 0.09
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50cm 0.09 0.10 0.07 0.08 0.10 0.11
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1m 0.09 0.10 0.07 0.08 0.10 0.11
50cm 0.11 0.12 0.07 0.07 0.11 0.11
56 B YR Ba A /NR) I $hHEE 9/ 148
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67 |REEEH INEEAR SEXBETILE)I/NER 9/ 148
im 0.07 0.07 0.07 0.06 0.10 0.09
N 50cm 0.07 0.07 0.07 0.08 0.08 007
68 | REEEHE INEEAR SEXBEI S H/NER 9/ 148
im 0.07 0.06 0.08 0.07 007 007
j ‘ N ) 50cm 0.06 0.05 0.11 0.10 0.08 0.08
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50cm 0.07 0.06 0.06 0.07 0.07 0.06 )
71 HE™ *REEH FHBEREE 98148 [IEF9] No73#EYSHE LA
1m 0.07 0.07 0.07 0.07 0.07 0.07
50cm 0.06 0.05 0.07 0.06 0.07 0.07
72 HET YR HBETIL/\IBHHE 9/ 148
1m 0.06 0.06 0.07 0.06 0.07 0.07
) 50cm 0.07 0.06 0.06 0.06 0.06 0.06
73 HEM SR AHEY GhHEE 98148 [EM] NoTihfiRERERELR
1m 0.07 0.07 0.06 0.06 0.06 0.06
50cm 0.07 0.08 0.07 0.07 0.07 0.08
74 HE™ INERR BT IR E— /DR 9/ 148
1m 0.08 0.08 0.07 0.07 0.07 0.07
50cm 0.08 0.07 0.08 0.08 0.07 0.06
75 HE™ INERR HETILIL /NP 9/ 148
1m 0.08 0.07 0.09 0.08 0.07 0.06
50cm 0.08 0.06 0.07 0.07 0.06 0.06
76 HE™ INERR B E AL/ BB /NP 9/ 148
1m 0.08 0.07 0.07 0.06 0.06 0.06
. i 50cm 0.07 0.07 0.07 0.09 0.07 0.07
77 HET R HHEMILRE TR 9/ 148
1m 0.06 0.07 0.07 0.08 0.06 0.07
o L 50cm 0.09 0.11 0.07 0.08 0.09 0.09
78 HET EEFR HERK 9/ 148
1m 0.10 0.11 0.08 0.07 0.09 0.09
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79 | LvbhEM REE ERHREM 9/ 148
m 0.06 0.06 0.06 0.05 0.06 0.06
_ 50cm 0.07 0.07 0.08 0.08 0.07 0.07
80 | LvbhE REE BREM 9/ 148
m 0.06 0.07 0.08 0.07 0.07 0.07
50cm 0.06 0.07 0.06
81 WhE REE EHRER 9A 148 FTEIEIEHFICKYBIERT
m 0.05 0.06 0.06
50cm 0.06 0.06 0.06 0.04 0.05 0.05
82 | Lvh&EM REE AERBER 9A 148
m 0.06 0.05 0.06 0.05 0.06 0.05
50cm 0.05 0.06 0.06 0.05 0.07 0.06
83 | LvbhE *REEH IWEAEREBRT 9/ 148
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86 | LvbEm REE DWHEYTLMRE BREL SR | gg g | [HRRE- RS | MN=d U1 bR (D 5 (28
{I
ALITh 1m 0.06 0.07 0.07 0.08(11ELREE)
50cm 0.05 0.06 0.07 0.07 0.06 0.06
87 | LvhEM YR WhEM I iRsh#E 9R148
m 0.05 0.06 0.06 0.06 0.06 0.06
50cm 0.06 0.07 0.05 0.05 0.07 0.07
88 | LyvbhEh YR EHETEEHHE 9/ 148
m 0.07 0.06 0.06 0.06 0.07 0.06
50cm 0.07 0.06 0.06 0.06 0.06 0.06
89 | LvbhE YR IO HE 9/ 148
m 0.06 0.06 0.05 0.06 0.05 0.06
50cm 0.06 0.06 0.06 0.05 0.07 0.07
9 | LvbhET YR NEAN) VI HFHE 9/ 148
m 0.07 0.06 0.05 0.06 0.07 0.06
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50cm 0.06 0.06 0.06 0.06 0.06 0.07
91 WhE INERR WhEHIL EEF/INER 9A14H
im 0.06 0.06 0.06 0.06 0.06 0.06
50cm 007 0.08 0.07 0.08 0.07 0.08
92 | LvbhEM INERR WhET LR/ 98148
im 0.06 0.08 0.08 0.08 0.07 0.07
50cm 0.08 0.08 0.08 0.08 0.08 0.08
93 | LvbhET INERR WhETH IR/ 98148
im 0.08 0.08 0.08 0.08 0.08 0.08
50cm 0.09 0.10 0.10 0.09 0.08 0.08
94 | LvbhET INERR W ETH I BT /NEERR 9A14H
im 0.08 0.10 0.09 0.10 0.08 0.08
50cm 0.06 0.06 0.08 0.08 0.08 0.07
95 | LvbhET INERR WhEH I IRR/NER 98148
im 0.06 0.05 0.07 0.07 0.08 0.06
50cm 0.06 0.06 0.06 0.05 0.07 0.07
96 | LvbhEth INERR WhETH LR/ 9A14H
im 0.06 0.06 0.06 0.05 0.07 0.06
50cm 007 0.06 0.07 0.06 0.07 0.06
97 | LvbhEM aele ot WhEML LEF DR 98148
im 007 0.06 0.06 0.06 0.06 0.06
50cm 007 0.07 0.07 0.06 0.07 0.07
98 | LvbhET aele ot WhET LR 9A14H
im 0.08 0.06 0.07 0.06 0.06 0.07
N N 50cm 0.06 0.06 0.06 0.06 0.08 0.08
99 | LvbhET BEER EEHER 9R14H
im 0.06 0.06 0.06 0.06 0.09 0.08
N N 50cm 0.08 0.08 0.07 0.08 0.10 0.11
100 | LvbhEH BEER WHhZEZEDHER 9A14H
im 0.08 0.08 0.07 0.08 0.10 0.11
N L 50cm 0.06 0.07 0.07 007 0.09 0.10
101 | Lvbh&Em BEER LWHhEREER 9R14H
im 007 0.07 0.06 0.07 0.09 0.09
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